CLEAN

~

PAF &%l




MEEEH Specifications

AN B
RHEHNX: TR IR RE
mEhAmE: £R—kTL,

TiEEA:
TIERE:
EO®EK:
AR
e
WeF: 2, 5, 10, 20um
4: 10, 25um
£FEM: 40um
IRSRIEEZE: 20 bar
EBEHFBEE: 6bar
HEEERRERES
ZilEBRIMIEZ: Sbar, BM-B/ER
HEEEWHRERES

& A420bar

-40TC ~ +120TC

BSPP/M #4l , SAE62iA=
TSR/ SR

TN RHEEE
ERTET WM. A&
EEeNRiESAATHEARE]

Pabuy

Pressure filter

—hHAE B —

Type of construction :

PAFS/EZiEqs
PAF High Pressure Filter

Inline filter

Mounting method : Vertical

BHA,

Flow direction: Inlet to outlet: side connection,

at the same level, on opposite sides

Operating pressure: Max. 420 bar

Operating temperature :

-40C to +120C

Connection ports: BSPP/Metric, Flanges SAE62
Seal material: NBR,Viton, EPDM on request

Filtration media:

glass fibre: 2, 5,
cellulose:

10, 20um
10pm,25um

mesh:40 y m.
Element collapse rating: 20 bar

Bypass setting:Opening pressure 6 bar

other settings on request.

Pressure indicator options: 5 bar

- visual — visual /electrical,

other settings on request.

Fluid compatibility:

Suitable for mineral oils, synthetic

For use with water, please contact our company.

FatEfFS
Hydraulic symbol

R
To system

5O
O




PAF S /I8 7%
PAF High Pressure Filter

T8  Ordering Code
i2iEZ& The Completed Filter

t

B
M
‘O
IS
1
<
IS
|Z

TS EE 8IS Filter type

= Flow rate (L/min)
0030, 0060,0110, 0160, 0240, 0330,0500,0660

e %l Element material
P: 584K Celullose (B x=2)
F: B 4T Glass fiber( B x=200)
W: £E N Wire mesh

1T HEEE Filtration rating( u m)
(F): 002, 005, 010, 020 (P): 010, 025 (W):040

ZE L Seals
N: TEE#EE NBR, V: &5 Viton

# O/ R~ Port type/Size

/R~ Type/Size

RE B(BSPP &H424( thread ) M( #4240 Metric thread) F(3%2 Flange)

Flow Rate
B08 B12 B16 M18 M27 M33 F25 F32 F40

0030 ® L

0060 ® o

0110 [ &

0160 o L L

0240 ® o o

0330 ® o

0500

0660 *

B08=G1/5 , B12=G3/4 , B16=G1

M18=M18x1.5, M27=M27x2, M33=M33x2

F25=SAE62-1" , F32=SAE62-1 1/4” F40=SAE61-1 1/5”

EZ %28 Indicators

N:7t No, V:B#R visual 5bar, E:B/E3X visual / electrical 5bar




PAFE/E1T &7
PAF High Pressure Filter [l

JBisfXH The Replacement Element
PAE 0500 F 010 N
e ES Element type N

= Flow rate (L/min)
0030, 060,0110, 0160, 0240, 0330,0500,0660

JESA# Element material
P: #84K Celullose (B x=2),
F: 34+ Glass fiber( p x=200),
W: £ M Wire mesh

id R4S EE Filtration rating( p m)
(F): 002, 005, 010, 020 (P): 010, 025 (W):040

ZE ] Seals
N: TES#A: NBR, V: S5 Viton

Wi EEMGESHE Filter Specification

SUR A #0 T nE B5=
Filter Ports Element Flow(L/min) Weight(Kg)

PAF0030 847 Thread G1/» , M18x1.5 PAE0030 30 3.2

PAF0060 _ PAE0060 60 4.2
#2247 Thread G3/4 , M27x2

PAF0110 PAE0110 110 5.7

PAF0160 #247 Thread G1 , M33x2, PAE0160 160 6.7
3 F AEG2-1"

PAF0240 7= Flange SAEG PAE0240 240 9.2

PAF0330 PAE0330 330 15.8
S AL 1 n

PAF0500 7= Flange SAE61 - 17/ PAE0500 500 20.3
AE62 - 11/, "

PAF0660 SEEE fa PAE0660 660 24.8

EFEMEZ Pressure Drop Curves

RN EEE R EREN LEERENER, BESETIRFBHEEMRETSKTF1.2bar,

MRERN TN RMEEARR32cSt, EKRERITEINT:

Ap = (Ap32 x TIEST FHLE) / 32¢St.

IR EREHIEREE T TIEN RAE I E32cSt, FE0.8745 %],

The "“Assembly Pressure Drop(AP) is obtained by adding the pressure drop values of the filer housing and
of the clean filter element and the recommended level of the initial pressure drop for high pressure filters is
Max. 1.2 bar.

If the medium used has a viscosity different from 32cSt, pressure drop over the filter can be estimated as
follows:

Ap = (Ap32 x viscosity of medium used) / 32¢St.

Filter pressure drop based on 32cSt fluid viscosity and 0.87 density.




AP (bar)

AP (bar)

AP (bar)

AP (bar)

PAF & [EiT & s
PAF High Pressure Filter

5ok EBE Filter Housing Pressure Drop

PAF0030-0060-0110 PAF0160-0240 PAF0330-0500-0660
175 175 175
15 E 1.5 15
E /) E 3
125 F 125 125 F
g PAF0030,/ P =, E
1 F 51 F 1 F
E AF0060-0110 2 F PAF0160-0240 8 3 PAF0330-0500-0660
075 S 075F / G 0rsF /
os — // 0s £ os |
0zsf 025 — 0.25
o g 25 S0 75 100 125 180 ° g5 50 0 150 20 0 30 0 oo 15 250 a5 500 62 750
HE R Flow (L/min) i Flow (L/min) it Flow (L/min)
s ==
| -
I 4 FR LR S # hA bR
Clean Element Pressure Drop With Media F&P
PAE0030 PAEQ0B0 PAE0110
175 Fo02 F005 VISE ooz} VISE Fo02
15 E 15 F Vd FO0S 15 E 7 FOO!
125F / // 125 // 125F /’
E = E y, & 3
"E P £ F 7 g1 F 7
075 F FO1 % o7sf —F010 4 075F ¥4 =
E / L 0200: E / 020 05 E / ’Egéo"
3 7 S 1 ows]  F L———1 ]
E A E — 0.25F d %“f
E B e o R R T Rl o b R I RARE AR
HE R Flow (L/min) iR Flow (L/min) it Flow (L/min)
PAE0160 ? PAE0240 ’ PAE0330
1.75 75 5
E F02, FO05 3 Fooz}/ FO05 3 Foog,/  Foos
15 E // // 15 E Vi i 15 F
125F / a 125F / 125F /
- 717 - 4 “E V
1k 7 B OE '
0rsE / 4 Fo107] g o7k / 57071 2 o7sk /
- A — | oz os E L/ - o b L/ [ —Foto]
“E /A P s S S = 7 =
0.25F —p025—] 025F = P10 0.25F ——
—— ———r -
® 50 100 150 200 250 a0 % o 50 100 150 200 250 a0 75 150 225 300 375 450
& Flow (L/min) #i& Flow (L/min) it Flow (L/min)
PAEO0500 ; PAE0660
175 75
E F002 E Fooz,}”
15 F ‘/ 15 F ¥4
E / FOO! 3
1.25F / 125 F y
0.75F % o07sE
P |_rFoto| < "7E /
05 F — —r02 0s | 4 020
0asE / __H__—/_—ﬁzggg oSk pd —
E E é’é ﬁ | poos—
® 2 20 a5 s e®m 7m0 0 0 125 F T 625 750

& Flow (L/min) it Flow (L/min)



M EFER ST Dimensions

PAF0030-0110

IV IO

7

AT, 4-M8x1.25 iF12

98

48

K—MOUNTING HOLES,M8 x 1.25-6H x 12DEEP
80

40

R30

i /
T | 223 17156 TORQUE
i 22-27Nm
|
|
|
|
M
S 2 375 | 7524
T = HEx24 A/F
£8
¥
13
|
%2
i o

PAF0030

Gl/, M18x1.5 165

PAF0060 198
G3/4, M27x2

PAF0110 293




IMERFERT Dimensions

PAF0160-0240

— | =
777
- [T
7 ;
il
AN AN
N |
\ I
}
| i N
\I'l“ T\
237 4-M10x1.5F 11
4-MOUNTING HOLES,M10x1.5-6HX11DEEP
Qo
— [ —H—
S

EESR-100
BOWL REMOVAL

93

27.8

PAF0160

G1, M33x2

236

PAF0240

SAE62 - 1”

345

\. RIEH4E TORQUE
34-40Nm

~FS=24

HEx240A/F

SAE 62—1” -6000psi(420bar)
4-M12 x 1.75-6H x 195 DEEP



S RFER T Dimensions

PAF0330-0660

SAE 62 - 1-1/4” -6000psi(420bar)

N r
2| O OHa®
+ + 5
T | \ %314 TORQUE
. 81-95Nm
g2 |
: T C>)
| % |
poc 73775=36
37, 4-M10x15 F11 ‘ﬁ s 2128 HEX 36.00 AFF
4-MOUNTING HOLESM10x 1.5-6Hx 11DEEP 5 O
\ 120
o
SE o
b n L
PAF0330 324
PAF0500 443
PAF0660 557




	09-PAF(56-63)-01.jpg
	09-PAF(56-63)-02.jpg
	09-PAF(56-63)-03.jpg
	09-PAF(56-63)-04.jpg
	09-PAF(56-63)-05.jpg
	09-PAF(56-63)-06.jpg
	09-PAF(56-63)-07.jpg
	09-PAF(56-63)-08.jpg

